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.7808 c in.

earth containt

1.8608 cm*
uUiply th^ cir-

r, the diameter

.8+ iq. feet,

ply the prodwrt

,0 axoofwbicL

l8,0ft.67irt.

Find the meaa

r the difference

e stavee are not

iBk to a cylinder.

r bi' .7834, and

lenl» in inchefr

^, whow hong

t, and length 50.

.72ga»©«»i-

ERRATA TO BE CORRECTED WITH A PEJT.-

for £15 58. read £15 15i.
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fage S9, Question It),

32, " 12, " 8«.94d.

38, " 9afi8. " 636
109, 8th line from bottoni» ** m
118, " 7 " 219.75
114, Case IIf> " larger

152, « 4 ans. " £3657 48. l^d.

"

; 140, " 23 " 68.3 «*

Fage 134, Questions 3-4-'&~6 are erroneoon.

3rd Question should he 102 : 90 : : £500 : £441 3s. C^d^ ana.

4th Question should be 90 : 102 : : £441 38. e^d^^ : £500
5th Question should be 99 : 90 : : £1000 : £909^ ana.

6th Question^should be 90 : 99 :i£909^ : £l00e'ata»
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£2657 4f.lid.
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